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A 28 year old woman is a sedentary worker. She is a lactating mother with 3 month old child.

Which of the following is her approximate energy requirement in farms of kilocalories per day ?
1) 1500 kcal/day 2) 2250 kcal/day 3) 2500 kcal/day 4) 2830 kcal/day

MY diges RTAIGR dhedT SOl FHE HishaT. ...

37) Tl q) e P) NS PR ) Yol

qft SR :

9) 37 30T § Heh ) 31, P MM S 3) 31, g 3§ ¥) 3, § 0T &
The major operations performed by modern rice mills are

a) Cleaning b) Husking ¢) Separation d) Washing
Answer options :

I)aandb only 2)a,b,candd 3)a,bandd 4)a,bandc
QUIT RS HT0T ARG AT .

9. e g < T QY < B Y < AN qY

2. 7R gU > wgefl™ qU > TR QU = AU gU

3. 4 qU > EefiE g > AR U > HAIURIR gU

8. Held U > el qU > sT g < AN Y

Choose the correct order of fat content in the milk.

1. Sheep’s milk < Buffalo’s milk < Goat’s milk < Human’s milk
2. Sheep’s milk > Buffalo’s milk > Cow’s milk = Human’s milk
3. Sheep’s milk > Buffalo’s milk > Goat’s milk > Human’s milk
4. Sheep’s milk > Buffalo’s milk > Cow’s milk < Human’s milk

3) EfFSt, Hehl 9 [&H 9INUT G
TERTY HREMT 9, 983 TR, TP RGN SIRMRIIC! fUIreaT qudre JHIvl HREITT
PRRA RFCIAT U BIFTRIAS! fhAT Ue et ardet UTfest 311 oY fvarrer aroft
B PRAMT TgH! FgoT Uy IRIA. TR
9) 9 ferex Q) R foreR 3) 4 forex g) 3 foreR
As per Maharashtra Factories Rules, 1963, the quantity of drinking water to be provided for the
workers in every factory shall be at least a day per worker employed in the factory
and such drinking water shall be readily available at all times during working hours.
1) 1 litre 2) 2 litres 3) 5 litres 4) 3 litres
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How much zinc supplement is recommended by WHO and UNICEF for infants less than 6 months
of age after an episode of acute diarrhoea ?

1) 20 mg per day for 10 days 2) 10 mg per day for 10 days
3) 5 mg per day for 7 days 4) 6 mg per day for 7 days

q) Ui ?) 3w 3) Rafeed g) A
Dipeptidyl peptidase [V isa.......... protease.

1) Threonine 2) Aspartic 3) Cysteine 4) Serine

IS S8 QU e, g IR am

9) wHt BRI 3nfor Hfcdrm Q) FHI BRI T 3= By Al
3) ST BRI MOT Hfcm Il ¥) I= BRI ST HHT HfevRy At
Soft curd milk is characterised by .........

1) Low casein and calcium content 2) Low casein and high calcium content
3) High casein and calcium content 4)High casein and low calcium content
B TR SRUIRIS BT QU Tl 38 2

q) TR qU Q) w&dfd qu 3) IDE Y ¥) ST Y
Which milk 1s best for preparation of Chhana ?

1) Cow milk 2) Buffalo milk 3) Goat milk 4) Camel milk

rgefieT gUEEd Wiefieridh! PIvRcht fae sRIsR 3 2

a) TSTIT YT TReuer wgefiear gureaT Jeqed Hulfthee e 3Tl f[adesuarar fig SR s/l
b) Ms=T quTHl =Rt wgefiea guren TReven gfeRe afir sfiford YRTsHE STRT 3/,

c) reefiear fRieR BRI Hurer JMBR MSTAT JRIGAUET Aol Tl

R SR :
9) a 3T ¢ SRR 3Med ?) b 3N ¢ SRR 3Med
3) a 37T b SRISR 3T 8) | Fehid e

Which of the following statements are correct about buffalo milk ?

a) Buffalo milk fat has a higher saponification value and melting point than cow milk fat.
b) Cow milk fat is higher than buffalo milk fat in butyric and oleic acids.

c¢) The particle size of buffalo miscellar casein is larger than that of cow micelle
Answer options :

1) a and c are correct 2) b and c are correct

3) aand b are correct 4) All are incorrect
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Which of the following vitamin acts as a anti oxidant ?

1) Vitamin A 2) Vitamin D 3) Vitamin E
Tefler el el AT IR g fie -

A) Vit. B1 ) ERIREMIRREHT

B) Vit. B3 1) St

C) Vit. B6 1) SACD

D) Vit. B12 IV) SeAm

i SR :

A B C D
H I m N I
2 1T IV I I
3) WV I I I
I I

4) IV 1
Match the following and select the correct option :
A) Vit. Bl I) Hyperhomocysteinernia
B) Vit. B3 II) Beriberi
C) Vit. B6 1) SACD
D) Vit. B12 IV) Pellagra
Answer Options :
A B C D
I I m v I
2) T IV 1 1T
3) vV 1 m 1
4 IV I 1 I

THS SiedT Jal — Siiae g Jiedl FHE! B0 T

S ST AT
3) 3 Sfg-a i. gegd
§)  Sftga ii. Tl

P) F Sl iii. <herg
g) &t 92 Shemad iv. JIdsTigesuun
g IR :
I § B S
Q9 i i v i
) v 1 1t
3) i v 11 1l
8) i m v 1

8) SHevIa &

4) Vitamin K
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Match the following — Vitamins and respective deficiency diseases :

Vitamins Deficiency disease
a) Vit. A 1. Rickets

b) Vit. D i1. Scurvy

c) Vit. C 111. Anaemia

d) Vit. B12 1v. Night blindness

Answer Options :

a b ¢ d
) i i v i
2) v i i il
3) i v il il
4) i i ivood

8) HIIYUT, 3T STfOr YINUT HRIHH

TRMITIT BHRIS PIRIARDR AT Bl

) 9T Y 9 TN ol R) 8 T Y I¥ FINEIKI Jel
3) & d ¢ T FANEKie el 8) R T ¢ ¥ FINEIieT ol
Kwashiorkor disease due to lack of protein occurs in

1) children aged 1 to 5 years 2) children aged 4 to 7 years
3) children aged 6 to 8 years 4) children aged 2 to 8 years

SR Hch AR 3feRicl fheTRE T DIUAT TRARA g e IMER fem S ?
9) IFA%@E(&OmgWFﬁ'&'+L&OO mcgﬁ%liﬁﬁf%r&')m

?) IFA S&ic (900 mg e Al + 400 mcg Bifeid iRie) TR Af=aren

3) TR 9 IFA Sl

8) RIAYH Breer ATl

Under Anaemia Mukt Bharat which iron supplementation is given to abdolescents with what

frequency ?
1) IFA tablet (60 mg elements iron + 500 mcg Folic Acid) weekly
2) IFA tablet (100 mg elemental iron + 500 mcg Folic Acid) every month

3) Daily 1 IFA tablet

4) None of the above

Tl PO HHORGHE] BRI sl it Ifereaquiu) afeed ?

9. ST 2. Wl 3RS 3. SR 8. fgcfm v

In which of the following deficiency, zebra stripping of hair is characteristically found?
1. Zinc 2. Fatty acid 3. Biotin 4. Vitamin A
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GTeliedehl PIUTAT TSR TV STUOT 3701 T Hehc IhRuTelt Hefird IRMRATS! ARRICT ot
AT 2

9. PR RIge — Sigfel g fdhar fiesedt e

2. ARAISERIAT - FIRAT Jfthel

3. FUIEgfeIE - ARifeseTRe IR

8. REERIURIRIRRISSH — TR gRuIhe il

Which among the following is NOT correctly matched for Disease Associated with Childhood
Obesity and its manifestation?

1. Cushing syndrome - Adrenal hyperplasia or pituitary tumor

2. Myelodysplasia - Spina bifida

3. Hypoinsulinism - Nesidioblastosis

4. Pseudohypoparathyroidism - Variable hypocalcemia

GTAIAUDT DI IR RIS FRITRCMAT ¢l HH FRUIT Hed B b ?

a) SMERTS AT Mo/ W= BHHT o, b) IIER aoi AT @0

¢) Hfehep SHadieiid Igof d) drEt TFRIYS Morar amR.

g IR :

9) a 37T b Hh ) ¢ amfor d wh 3)a, b3l c Beh ) RIcD! Pralg Arel

Which of the following measures can help to reduce the risk of systemic hypertension ?
a) Reduction in dietary intake of common salt. b) Controlling weight for age

¢) Modification of personal lifestyle d) Use of oral contraceptive pills.
Answer Options :
1) aand b only 2)cand d only 3) a,band c only 4) none of the above

IS gFaRE g (NRC) HYT A1 3MTeiedl THR g PUISUITeaT STeierd FRI&0r sFurare! Afde
(AWW) Weiiciidl PIvl JeBTIFBIIR el aTfaot ?

9) ISISANT Uehal UfeedT HfR=ITAISH 30T TR SSTSAT GIHaT

Q) Uk A=A JTSASTIT Qal M0 TR ATSASATL Tebal

3) IS Uehal Ufgedn Hig=ard 3T HeR JURGSATT Uehal

®) Ufgedl Afg=AId ATSISAIT QFal MU FoR RIS Uehal

Child of severe acute malnutrition discharged from Nutritional Rehabilitation Centre (NRC)
should be observed in community by an Anganwadi Worker (AWW) as per which one of the
following schedules ?

1) Once a week for first month and then twice weekly

2) Twice weekly in the first month and then once a week

3) Once a week for first month and then once fortnightly

4) Twice weekly in the first month and then once fortnightly

HLYTT STRINATT 99 (A1) ST Tl TR RAGIRIE ICSTIRR AT HIGHTT TR
T, AT FAicaet PT YHUT IRETET YRAST SFeHIFR AT IRIRTN SIRGRUY FY 3R

GTAAUDT Do ael TSRS Idhe Ygdd Harad Jui a_d ?

9) TR 3= R) TSR AU

3) PG AT ot 8) TgdR GRIEacDT
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"In research study investigation studied the prevalence of Alzheimer's disease along with total fat
supply in 11 (Eleven) countries. They reported that total fat supply is strongly correlated with
prevalence of Alzheimer's disease."

Which of the following best describes the above epidemiological method ?

1) Ecological study 2) Community trials

3) Cross sectional study 4) Systematic reviews

3T SIR&T 3TN 7 BRIGT 00§, TR 3 FgUT IR heted fafder yereifieh @refler amed /3.
a) Jrgarereiear TR fohar SIifreht 3=

b) 3= ITAR FRAMT qTARelel goft

c) foraa wmoft

d) sitwer anfor sfiwefy Seare

RICTUDT DIV /AT 37Tee 2

9) %eh a ) a 3Tl b Heh 3) a, b 37T ¢ Bh Q) Rl T4
Following is/are among the various substances defined as “Food” according to “Food Safety and
Standards Act 2006”.

a) Genetically modified or engineered food

b) Water used during treatment of food

¢) Live animals

d) Drugs and medicinal products

Which of the above is/are correct ?
1) a only 2)aand b only 3) a,b and c only 4) All of the above

Eiskd
(9Y4)3r= MO GIyUT — Hehl g F&H UNYI g, Sfiaw

q9) SSHI g YN0 Ich

R—8 3-3
Y K P ) e s G e L
-3 3-¢ 8-9 4-9 -9
3) g

R-R 3-R

) HUINT, 375 JATFOT TINT PRIhH
-9 3-9 =3 4-3 &—3 9—-19 ¢—-R

e § 9 7T & QEURISTS! SUYwh ULHIg : WM fasm / ]¢



